27629-01 Ok |, wash A , JMRL , T44 , DIN ISO 12240-1

RYE

Iiaéjtt 7= A 15 B
frei

STAINLESS STEEL *j- *Sl' :

BIETEN 1.4057 HFEHE,
ZELAITELIER 1.4034 BRFEET
AN 1.4571 Sl

I

KZHHLIE,

BR:

TEEL B HARYET . EZERITXIR DIN 648 X R 51 KA,

h
A
L2 _

27629-01-05 GHEtEE 33 18| 5 M5x0,8 8 6 11,11 19 9| 42 |13 57 6

27629-01-06 B HEIRY 36 20| 6 M6x1,0 9 6,75 12,7 21 10| 46 |13 7,2 7,65
27629-01-08 HHEIRY 42 24| 8 M8x1,25 12 9 15,875 25 12| 54 |14 11,6 12,9
27629-01-10 AHEIRS 48 28|10 M10x1,5 14 10,5 19,05 28 14| 62 |13 14,5 18
27629-01-12 pyiid A 54 32|12 M12x1,75 16 12 22,225 32 16| 70 |13 17 24
27629-01-16 GHESEEL 66 42|16 M16x2,0 21 15 28,575 37 21| 87 |15 28,5 39
27629-01-20 HHEIR 78 50|20 M20x1,5 25 18 34,925 45 25| 103 | 14 42,5 57
27629-01-22 HHEIRY 84 54|22 M22x1,5 28 20 38,10 48 27| 111 |15 57 68
27629-01-25 AHEIRS 94 60|25 M24x2,0 31 22 42,86 55 30| 124 |15 68 85
27629-01-30 EHESREZ 110 70|30 M30x2,0 37 25 50,8 66 35| 145 |17 88 114
27629-01-051 EHEBE 33 18| 5 M5x0,8 8 6 11,11 19 9| 42 |13 57 6

27629-01-061 FEHEIRAL 36 20| 6 M6x1,0 9 6,75 12,7 21 10| 46 |13 7,2 7,65
27629-01-081 A REIREL 42 24| 8 M8x1,25 12 9 15,875 25 12| 54 |14 11,6 12,9
27629-01-101 ERESRSL 48 28|10 M10x1,5 14 10,5 19,05 28 14| 62 |13 14,5 18
27629-01-121 EREIRY 54 32|12 M12x1,75 16 12 22,225 32 16| 70 |13 17 24
27629-01-161 EHEIRE 66 42|16 M16x2,0 21 15 28,575 37 21| 87 |15 28,5 39
27629-01-201 FEHEIRAL 78 50|20 M20x1,5 25 18 34,925 45 25| 103 | 14 42,5 57
27629-01-221 EREIRY 84 54|22 M22x1,5 28 20 38,10 48 27| 111 |15 57 68
27629-01-251 ERESRSL 94 60|25 M24x2,0 31 22 42,86 55 30| 124 | 15 68 85
27629-01-301 EREEE 110 70|30 M30x2,0 37 25 50,8 66 35| 145 | 17 88 114

© norelem www.norelem.com



27629-01 Ok |, wash A , JMRL , T44 , DIN ISO 12240-1

RUEH

© norelem www.norelem.com



